CS 225
Reading Questions for Section 4.4
Due Thursday 2-14-13, 10 AM
Please read Section 4.4 (Binary Tree Traversals and Related Properties) and respond to the following.
1. Suppose N is a node in a binary tree T.  How many children can N have?  List all allowable values.

2. How do we define the height of a binary tree T?  
3. What is the height of the empty tree?  The tree with a single node?
4. Write a recursive divide-and-conquer algorithm to find the height of a binary tree.  
5. What is the "extension" of a binary tree?

6. If a binary tree T has n internal nodes, then it has ___________ external nodes.

7. What does it mean for a binary tree to be full?

8. Suppose a full binary tree has height 3.  How many nodes are in the tree?

9. Write a sigma expression for the number of nodes in a full binary tree of height n, where n ≥ 0.

10. Draw a binary tree T such that its preorder traversal is 1, 2, 3, 4, 5, 6 and its postorder traversal is 
3, 2, 5, 6, 4, 1.
